(Sample Paper)
Common Annual School Exam 2018-19
V1 — Pratibha

Subject Mathematics

Time: 2 ¥2 Hours M.M. 50
General Instructions:

1. All the questions are compulsory

2. This question paper consists of 22questions divided into four sections A, B, C and D.
Section A contains 5 questions of 1 mark each.
Section B contains 9 questions of 2 marks each.
Section C contains 5 questions of 3 marks each.
Section D contains 3 questions of 4 marks each.

3. There is no overall choice in this question paper although internal choices have been
provided in some of the questions.

4. Please write down the serial number of the question in the answer script.
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Section A

1. Write 205.9 in the place value table.
205.9 FI TIET A FROT H fof@u |



Hundreds Tens Ones Tenths
TeheT TR EEIH FITieT

Draw number lines and locate the points 1/2 and 1/8 on it.
TEAT X@r 9 Vo JAT 1/8 Y g2AsU |
. Name any two angles in the given figure.

& 18 IRy F Bl o Fot & T WA |
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A
. Find the perimeter of the field in the given figure.
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. There are 45 teachers working in a school. If the number of females is 25 and the
remaining are males. Find the ratio of the number of females to the number of males.
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Section - B

In the given figure which two triangles have angle B common name the triangles.

& 78 A 7 Faw F FT F P A For B § |
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7. Divide rupees 60 in the ratio 1:2 Between Kriti and Yogita.

60 TIT F FY X AT A 12 7 SR |
8. Find the perimeter of a regular pentagon which each side measuring 3 cm.

U fAAfAd qasfer #1 IRAT AT ST FHh A+ ¢ 3 cm § |
9. Take the help of the figure to fill the table.

cTfelehT 1 81T & fIT 3MTehfcT 1 FErIaT ool |

i
Shaded squares Ordinary fraction Decimal Number
Bifehe a1 representing Shaded squares | 3wt
Bifohd T Rl S aTett fir

10. Is 5/9 equal to 4/5?
FIT 5/9 ,4/5 & ST § ?

11. Write opposite of the following.
a. Loss of rupees 700.
b. 30 Km North
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A 700 T Fr g1fe |
B 30 & & 3ax feem & 3R |

12.

13.

14.

15.

16.

17.

Write these fractions appropriately as additions or subtractions.

S 6 9T O A+ AT - 7 e @y |

Write four negative integers less than -10.
-10 & BT 4 RUMcHAS Uil fAfQT |

Samson spends rupees 9.50 for buying a pen and rupees 2.50 for one pencil. How much
money did she spend?

AT 9.50 T & TH 9o 9T 2.50 T & v 9f@er @lear & | sarsy
384 P fohdal T @I e 2

Section - C

Add
25 and 33
ST FifST

2853 o
Or

Asha and Sam have book shelves of the same size partly filled with books. Asha’s shelf
is 5/6™ full and Sam’s shelf is 2/5" full. Whose book shelf is fuller? By what fraction?

3Me 3R A & 9 T ST Thdrel S eATRAT § | 3T Fr AFART 5/6
amaT oY & 3R dF Y Ay 2/5 e oy E|fradr e e oy 87

Which number will we reach If we move 4 steps to the right of -6.
-6 & 4 FeH o Told W A fhe FEAr W dgd ?

-4 [3 [-2 [1 Jo |1 E E | 4 |5 |

Sunita oranges weighing 5Kg 200g. Out of this she gave 2Kg 700g to her friend. What is
the weight of oranges left with Sunita?

oAl & 5 fohellame 200 a1H HeR THIC 38A @ 38 2 fhoellaner 700 s
3N el Y & &I | T FeAldr & I T R w2 ?
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18.

19.

20.

21.

22.

By splitting the given figure in rectangles find the area (measures are given in
centimeters).

P A AT H AF I TG AT A (AT F A F G 7 §)
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Draw rough-diagram to illustrate
a. Open curve
b. Closed curve

% Oy e
c. 3¢ d&
d. Gell &%k
Section - D

How many tiles are required for the rectangular region whose length and breadth is 70 cm
and 36 cm respectively is filling with the tiles.If length and breadth of each tile is 12cm
and 5cm respectively.

T AR a7 G e 70 @ A g dss 36 A g, F v 12 @

Hr ofer AT 5 ¥ # OIS fhdsir Tsal $r aThdr geir ?

Or
Find the cost of fencing a square park of side 250meter at the rate of rupees 20 per meter.

20 U gfad HeX I T T T IEMER Uik HT 918 I &7 @I dd0 i
I #Y & ST 250 Hex @il |

Anish made 42 runs in 6 overs and Anna made 63 runs in 7 overs, who made more runs
per over?

3T o 6 3R A 42 I S0 | 39T oF 7 36X A 63 I §a0 | fohaer
3w A d=ATT ?

Draw a rough figure and label suitably.
a. Point P lies on line AB
b. Line XY and line PQ intersect at M.

I T §6r & 3ifehd Siferd
a. T @M AB W fo=q P
b. @ XY 3R PQM fawg W e ¢ |
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